ANEAEY

VERTICAL TIRE MOUNT

2002+ RAM/2500/3500
2002-2018 RAM 1500

NOT COMPATIBLE WITH
RAM BOX BEDS

PLEASE READ ENTIRELY BEFORE YOU START

To guarantee a quality installation, we recommend reading these instructions thoroughly
before beginning any work. These instructions assume a certain amount of mechanical
ability and are not written nor intended for someone not familiar with auto repair.

TABLE OF CONTENTS

|. Setting up Vertical Tire Mount

Il. Installation

lIl. Mounting Tire

IV. Tips for use with Bed Caps, Campers, Etc.

REQUIRED TOOLS

Common Hand Tools

Drill
1/2" Drill Bit
5/16" Drill Bit

Center Punch
Deburring Tool

Rust Preventative such as Permatex Rust Treatment

AEV30421AA
Last Updated: 08/27/20



S HIHSYM DNINIVLIY NAZAXOYAEL cl 6 1NN IONVT4 OTW VV9L0L6A3V 9
e dvD dN3 | ¢1-8-¢/T 1-40D 17 S 31V1d 43HOvd VV/£0Tdd OV S
1 F1ANVH YVYSE0TddOv o) [ d30vdS YVvS20TddOov 14
T 430vdS A3aTon VV620TddOV 6 1 13IAOVHd dv3HATNG YVY¥20TddOv ¢
14 1108 32194VD 07 X OTW |  61¢V0£686-9 8 1 INNOW JHIL | VV££0TddOV 14
S 1104 FOVIHdVYD G X OTW L1¢V¥0£686 L 1 d3IUVO FHIL | VVEe0TddOV T
ALO NOILdI¥2S3d ‘ON L4vd | W3all ALO NOILdI¥4Ds3d ‘'ON L4vd | W3l
NONYL WYY

LINAOW JUIL IVOLLYIA




mAMERICAN EXPEDITION VEHICLES

I. SETTING UP VERTICAL TIRE MOUNT

1. Physically measure the diameter of the tire you are using. DO NOT go off the advertised size listed on
the sidewall (fig. 1) ex: 37 x 12.50 Tire measures 36"

A. Divide the diameter measurement in half to calculate the radius ex: 3672 = 18"

B. Subtract 1/4" from the radius to account for material thickness of the Tire Carrier ex: 18" — 1/4" = 17 3/4"

PHYSICALLY
MEASURE TIRE

Figure 1

2. Use the final dimension from 1-B to position the Tire Mount on the Tire Carrier (fig. 2).

Figure 2

3. Install four M10x35 carriage bolts through the back side of the Tire Carrier. Secure with M10 nuts and
tighten until snug. Some adjustment may be required, nuts will be torqued later



mAMERICAN EXPEDITION VEHICLES

II. INSTALLATION

1. Place the Bulkhead Bracket into position approximately 10 13/16" from plastic bed rail (fig. 3). NOTE: This

measurement is for REFERENCE ONLY. Step 3 will help in final alignment.

10 13/1¢" (2741mm) \

Y

;U

° /N

2. Lift Tire Carrier into vehicle bed.

Figure 3

3. Place the two provided Spacers under the Tire Carrier as shown (fig. 4). Adjust the Tire Carrier position
side to side to align with spacer holes. Check that the Bulkhead Bracket is aligned with the Tire Carrier and

adjust as necessary.

NOTE: The Spacers should be pushed all the way forward, this will locate the Tire Carrier position front

to back.

Figure 4

4. Mark two hole locations on the bed floor (fig. 5) and three hole locations on the Bulkhead Bracket (fig. 6).

Figure 5



mAMERICAN EXPEDITION VEHICLES

( !'m@ /@@ X—F

Figure 6
Remove Tire Carrier, center punch and drill all five holes to 1/2".
Deburr and prep bare metal with rust preventative.

Use provided fish wire to pull one M10x35 bolt and backer plate through top hole on bulkhead, and two
M10x40 bolts and backer plates through the face holes of the bulkhead. Secure with retaining washers
(fig. 7-left).

Next use the fish wire pull two M10x40 bolts and backer plates (with shank) through the bed and hold in
place with retaining washers (fig. 7-right).

| \ \ ‘\ \
\\ /‘ ‘x\ |
NN )

/ /
/ /
/
-— / /
/ ,/
/ /
/ / /
/ / /
// / /
// / /
/ / /

Figure 7

Place Bulkhead bracket into position on the three bulkhead bolts (fig. 8). Loosely install an M10 nut onto
the top bolt.

(=

(04m@ /@@ o /7

Figure 8



mAMERICAN EXPEDITION VEHICLES

10. Place the Spacers and Tire Carrier into position on the two bed floor bolts and two bulkhead bolts (fig. 9).
Install M10 nuts on all four bolts.

Figure 8
11. Torque all M10 nuts to 46 lb-ft.
ITI. MOUNTING TIRE
1. Slide molded spacer onto threaded portion of handle (fig. 10).

2. Install 11/2" end caps on to handle (fig. 10).

Figure 10

3. Insert handle with molded spacer through spare tire and thread into the Center Bracket until tight.
NOTE: DO NOT HOLD TIRE IN AIR. If the spare tire is not resting on the bed of the truck, adjust the
Center Bracket to sit lower on the Tire Carrier (See Section ).

4



mAMERICAN EXPEDITION VEHICLES

IV. TIPS FOR INSTALLING WITH A BED CAPS, TOPPERS, ETC.

NOTE: Installation may vary between brands and styles. An ARE brand bed topper was used for the purpose
of these instructions and this is only meant as a guide for possible installation with other equipment.

1.

8.

Install the Vertical Tire Mount (VTM) per instructions with the elimination of the single vertical bolt
through the Bulkhead Bracket, or remove this bolt if previously installed.

Remove the VTM leaving all of the M10 bolts in place (hold with retaining washers).
Install the bed cap, topper, etc.

If the bed cap has a fiberglass flange on the bulkhead that reaches into the bed area it will need to be
trimmed (fig. 11). Place the VTM's Bulkhead Bracket into position and mark where the fiberglass flange
needs to be cut.

Figure 11

Gently peel back the carpet (if equipped) and trim the fiberglass flange so the VTM can be installed as
designed. Glue carpet into new position and trim as necessary.

Install VTM per instructions.

The spare tire must sit flush against the bedside. Temporarily place tire into position and mark the inside
flange of the bed cap where the tire makes contact (fig. 12).

Figure 12

Trim the fiberglass flange as in step 5.



